

Outcomes of Controlled Allocation Order (various groundwater sources) 2017

The registration of interests for the Controlled Allocation Order 2017:

- commenced on 8 May 2017 and closed on 6 June 2017 (first registration of interest)
- commenced on 8 October 2018 and closed on 6 November 2018 (second registration of interest)
- commenced on 8 October 2019 and closed on 6 November 2019 (third registration of interest).

The tables below detail the number of shares purchased and the price paid per share for each respective water source.

Table 1: Outcomes of the first registration of interest Controlled Allocation Order 2017

Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Water Sharing Plan for the NSW Murray Darling Basin (MDB) Fractured Rock Groundwater Sources 2011	Adelaide Fold Belt MDB Groundwater Source	n/a	1,035	0	\$0	\$0
	Kanmantoo Fold Belt MDB Groundwater Source	n/a	2,805	0	\$0	\$0
	Lachlan Fold Belt MDB Groundwater	Lachlan Fold Belt MDB (Other) Management Zone	37,723	5	\$750	\$3,750
				150	\$650	\$97,500
	Source			400	\$650	\$260,000
	Yass Catchment Groundwater	n/a	1,127	10	\$600	\$6,000
	Source			5	\$565	\$2,825
				250	\$550	\$137,500
				10	\$520	\$5,200
			10	\$500	\$5,000	



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	New England Fold Belt MDB	n/a	6,132	400	\$761	\$304,400
	Groundwater Source			5	\$750	\$3,750
Water Sharing Plan for the NSW Murray Darling Basin Porous	Sydney Basin MDB Groundwater Source	n/a	8,600	2215	\$655	\$1,450,825
Rock Groundwater Sources 2011 We Po Green	Gunnedah-Oxley Basin MDB Groundwater Source	Gunnedah- Oxley Basin MDB (Other) Management Zone	17,175	0	\$0	\$0
	Western Murray Porous Rock Groundwater Source	n/a	30,316	0	\$0	\$0
Water Sharing Plan for the North Western Unregulated and Fractured	Adelaide Fold Belt North Western Groundwater Source	n/a	4,557	0	\$0	\$0
Rock Water Sources 2011	Kanmantoo Fold Belt North Western Groundwater Source	n/a	4,190	0	\$0	\$0
Water Sharing Plan for the Greater Metropolitan	Coxs River Fractured Rock Groundwater Source	n/a	1,051	0	\$0	\$0
Region Groundwater Sources 2011	Goulburn Fractured Rock	n/a	7,961	50	\$680	\$34,000
Sources 2011	Groundwater Source			10	\$680	\$6,800
	Journe			838	\$655	\$548,890
				100	\$650	\$65,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
				100	\$650	\$65,000
				5	\$650	\$3,250
				60	\$650	\$39,000
	Metropolitan Coastal Sands Groundwater Source	n/a	4,081	15	\$500	\$7,500
	Sydney Basin	n/a	6,887	15	\$2,000	\$30,000
	Central Groundwater Source			15	\$1,000	\$15,000
	Source			8	\$750	\$6,000
				60	\$600	\$36,000
				54	\$600	\$32,400
				6	\$550	\$3,300
				50	\$501	\$25,050
				15	\$500	\$7,500
				50	\$500	\$25,000
				260	\$500	\$130,000
	Sydney Basin Coxs River	n/a	2,566	1095	\$800	\$876,000
	Groundwater Source			1471	\$800	\$1,176,800
	Sydney Basin	Nepean	14,935	5	\$1,300	\$6,500
	Nepean Groundwater	Management Zone 2	nt	100	\$1,060	\$106,000
	Source			15	\$800	\$12,000
				10	\$800	\$8,000
				10	\$800	\$8,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
				270	\$651	\$175,770
	Sydney Basin North	n/a	2,952	5	\$800	\$4,000
	Groundwater Source			50	\$750	\$37,500
	Sydney Basin South Groundwater Source	n/a	10,484	25	\$1,320	\$33,000
				5	\$660	\$3,300
				100	\$660	\$66,000
	Sydney Basin Blue Mountains Groundwater Source	n/a	1,056	0	\$0	\$0
Water Sharing Plan for the	GAB Central Shallow	n/a	1,325	225	\$605	\$136,125
NSW Great Artesian Basin Shallow	Groundwater Source			225	\$505	\$113,625
Groundwater Sources 2011	GAB Surat Shallow Groundwater Source	n/a	2,325	0	\$0	\$0
	GAB Warrego Shallow Groundwater Source	n/a	5,010	0	\$0	\$0
Water Sharing Plan for the North Coast Coastal Sands Groundwater Sources 2016	Bellinger- Nambucca Coastal Sands Groundwater Source	n/a	118	0	\$0	\$0
	Clarence Coastal Sands Groundwater Source	n/a	420	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Coffs Harbour Coastal Sands Groundwater Source	n/a	311	0	\$0	\$0
	Great Lakes Coastal Sands Groundwater Source	n/a	1,600	0	\$0	\$0
	Hastings Coastal Sands Groundwater Source	n/a	710	0	\$0	\$0
	Hawkesbury to Hunter Coastal Sands Groundwater Source	n/a	2,045	0	\$0	\$0
	Macleay Coastal Sands Groundwater Source	n/a	1,130	0	\$0	\$0
	Manning- Camden Haven Coastal Sands Groundwater Source	n/a	330	0	\$0	\$0
	Richmond Coastal Sands Groundwater Source	n/a	1,900	0	\$0	\$0
	Tweed- Brunswick Coastal Sands Groundwater Source	n/a	1,900	50	\$501	\$25,050
		n/a	30,000	150	\$550	\$82,500



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Water Sharing Plan for the	Clarence			25	\$510	\$12,750
North Coast	Moreton Basin Groundwater Source			200	\$500	\$100,000
Fractured and Porous Rock				50	\$500	\$25,000
Groundwater Sources 2016	Dorrigo Basalt Groundwater Source	n/a	500	0	\$0	\$0
	Liverpool	n/a	1,200	200	\$815	\$163,000
	Ranges Basalt Coast Groundwater Source	past roundwater		600	\$510	\$306,000
	Lorne Basin Groundwater Source	n/a	950	5	\$500	\$2,500
	New England Fold Belt Coast Groundwater Source	n/a	6,000	1000	\$500	\$500,000
				15	\$500	\$7,500
	North Coast	n/a	1,300	40	\$915	\$36,600
	Volcanics Groundwater			100	\$600	\$60,000
	Source			50	\$550	\$27,500
				50	\$501	\$25,050
	Oxley Basin Coast Groundwater Source	n/a	960	0	\$0	\$0
Water Sharing Plan for the South Coast	Lachlan Fold Belt Coast Groundwater Source	n/a	2,000	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Groundwater Sources 2016	South East Coastal Sands Groundwater Source	n/a	560	0	\$0	\$0
	Sydney Basin- South Coast Groundwater Source	n/a	2,150	50	\$520	\$26,000

Table 2: Outcomes of the second registration of interest Controlled Allocation Order 2017

Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Water Sharing Plan for the NSW Murray Darling Basin (MDB) Fractured Rock Groundwater Sources 2011	Adelaide Fold Belt MDB Groundwater Source	n/a	1,035	0	\$0	\$0
	Kanmantoo Fold Belt MDB Groundwater Source	n/a	2,805	0	\$0	\$0
	Lachlan Fold Belt MDB Groundwater	Lachlan Fold Belt MDB (Other) Management Zone	37,168	100	\$675	\$67,500
				50	\$650	\$32,500
	Source			500	\$650	\$325,000
				5	\$650	\$3,250
				885	\$650	\$575,250
				20	\$650	\$13,000
				354	\$650	\$230,100
		n/a	842	30	\$1,031	\$30,930



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Yass Catchment Groundwater			5	\$755	\$3,775
	Source			5	\$605	\$3,025
				50	\$605	\$30,250
				20	\$605	\$12,100
				2	\$550	\$1,100
				20	\$510	\$10,200
				10	\$500	\$5,000
				15	\$500	\$7,500
	New England Fold Belt MDB Groundwater	n/a	5,727	4	\$1,001	\$4,004
				10	\$851	\$8,510
	Source			40	\$782	\$31,280
				80	\$780	\$62,400
				100	\$750	\$75,000
				5	\$750	\$3,750
				100	\$750	\$75,000
Water Sharing	Sydney Basin	n/a	6,385	1000	\$725	\$725,000
Plan for the NSW Murray	MDB Groundwater			4031	\$655	\$2,640,305
Darling Basin Porous	Source			118	\$650	\$76,700
Groundwater		Oxley Basin MDB MDB (Other) Groundwater Management	17,175	30	\$675	\$20,250
2011	Oxley Basin MDB Groundwater Source			403	\$650	\$261,950



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Western Murray Porous Rock Groundwater Source	n/a	30,316	5	\$700	\$3,500
Water Sharing Plan for the North Western Unregulated and	Adelaide Fold Belt North Western Groundwater Source	n/a	4,557	0	\$0	\$0
Fractured Rock Water Sources 2011	Kanmantoo Fold Belt North Western Groundwater Source	n/a	4,190	0	\$0	\$0
Water Sharing	Coxs River Fractured Rock Groundwater Source	n/a	1,051	30	\$670	\$20,100
Plan for the Greater Metropolitan Region				100	\$666	\$66,600
Groundwater	Goulburn Fractured Rock	n/a	6,798	200	\$700	\$140,000
Sources 2011	Groundwater			300	\$650	\$195,000
	Source			37	\$650	\$24,050
				400	\$650	\$260,000
	Metropolitan Coastal Sands	n/a	4,066	50	\$500	\$25,000
	Groundwater Source			20	\$500	\$10,000
	Sydney Basin	n/a	6,354	30	\$650	\$19,500
	Central Groundwater			110	\$600	\$66,000
	Source			16	\$600	\$9,600
	Sydney Basin		14,525	20	\$800	\$16,000
	Nepean			100	\$707	\$70,700



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Groundwater Source	Nepean		425	\$706	\$300,050
		Management Zone 2		50	\$670	\$33,500
				15	\$665	\$9,975
				1840	\$652	\$1,199,680
				3653	\$652	\$2,381,756
				40	\$650	\$26,000
				70	\$650	\$45,500
	Sydney Basin North Groundwater Source	n/a	2,897	60	\$750	\$45,000
	Sydney Basin South	n/a	10,354	75	\$665	\$49,875
	Groundwater			75	\$665	\$49,875
	Source			100	\$660	\$66,000
				100	\$660	\$66,000
				479	\$660	\$316,140
	Sydney Basin Blue Mountains Groundwater Source	n/a	1,056	0	\$0	\$0
Water Sharing	GAB Central	n/a	875	25	\$500	\$12,500
NSW Great Artesian Basin	Artesian Basin Source			25	\$500	\$12,500
Shallow Groundwater Sources 2011	GAB Surat Shallow Groundwater Source	n/a	2,325	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	GAB Warrego Shallow Groundwater Source	n/a	5,010	0	\$0	\$0
Water Sharing Plan for the North Coast Coastal Sands Groundwater Sources 2016	Bellinger- Nambucca Coastal Sands Groundwater Source	n/a	118	0	\$0	\$0
	Clarence Coastal Sands Groundwater Source	n/a	420	0	\$0	\$0
	Coffs Harbour Coastal Sands Groundwater Source	n/a	311	0	\$0	\$0
	Great Lakes Coastal Sands Groundwater Source	n/a	1,600	0	\$0	\$0
	Hastings Coastal Sands Groundwater Source	n/a	710	0	\$0	\$0
	Hawkesbury to Hunter Coastal Sands Groundwater Source	n/a	2,045	100	\$500	\$50,000
	Macleay Coastal Sands Groundwater Source	n/a	1,130	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Manning- Camden Haven Coastal Sands Groundwater Source	n/a	330	0	\$0	\$0
	Richmond	n/a	1,900	5	\$750	\$3,750
	Coastal Sands Groundwater			50	\$501	\$25,050
	Source			10	\$500	\$5,000
	Tweed- Brunswick Coastal Sands Groundwater Source	n/a	1,850	0	\$0	\$0
Water Sharing	Clarence Moreton Basin Groundwater Source	n/a	29,575	10	\$600	\$6,000
Plan for the North Coast				6	\$550	\$3,300
Fractured and Porous Rock				20	\$501	\$10,020
Groundwater Sources 2016	Dorrigo Basalt Groundwater Source	n/a	500	5	\$510	\$2,550
	Liverpool Ranges Basalt Coast Groundwater Source	n/a	400	70	\$526	\$36,820
	Lorne Basin Groundwater Source	n/a	945	0	\$0	\$0
	New England	n/a	4,985	230	\$761	\$175,030
	Fold Belt Coast Groundwater			100	\$750	\$75,000
	Source			30	\$505	\$15,150
				25	\$501	\$12,525



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
				30	\$500	\$15,000
	North Coast Volcanics Groundwater Source	n/a	1,060	40	\$550	\$22,000
	Oxley Basin Coast Groundwater Source	n/a	960	0	\$0	\$0
Water Sharing Plan for the South Coast GroundwaterS ources 2016	Lachlan Fold Belt Coast Groundwater Source	n/a	2,000	20	\$500	\$10,000
	South East Coastal Sands Groundwater Source	n/a	560	0	\$0	\$0
	Sydney Basin- South Coast Groundwater Source	n/a	2,100	0	\$0	\$0

Table 3: Outcomes of the third registration of interest Controlled Allocation Order 2017

Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Water Sharing Plan for the NSW Murray	Adelaide Fold Belt MDB Groundwater	n/a	1,035	200	\$700 \$600	\$140,000 \$120,000
Darling Basin (MDB)	Source			200	\$550	\$110,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Fractured Rock Groundwater Sources 2011	Kanmantoo Fold Belt MDB Groundwater Source	n/a	2,805	0	\$0	\$0
	Lachlan Fold	Lachlan Fold	35,254	80	\$750	\$60,000
	Belt MDB Groundwater	Belt MDB (Other)		30	\$676	\$20,280
	Source	Management Zone		20	\$675	\$13,500
				60	\$655	\$39,300
				153	\$650	\$99,450
				3375	\$650	\$2,193,750
				200	\$650	\$130,000
				22	\$650	\$14,300
				20	\$650	\$13,000
	Yass Catchment Groundwater Source	n/a	685	5	\$1,000	\$5,000
				30	\$750	\$22,500
				9	\$700	\$6,300
				10	\$585	\$5,850
				80	\$580	\$46,400
				10	\$500	\$5,000
				10	\$500	\$5,000
				5	\$500	\$2,500
	New England	n/a	2,644	5	\$1,350	\$6,750
	Fold Belt MDB Groundwater			6	\$1,251	\$7,506
	Source			12	\$1,011	\$12,132



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
				30	\$800	\$24,000
				6	\$775	\$4,650
				100	\$765	\$76,500
Water Sharing Plan for the NSW Murray Darling	Sydney Basin MDB Groundwater Source	n/a	1,236	76	\$650	\$49,400
Basin Porous Rock	Gunnedah-	Gunnedah-	16,742	60	\$700	\$42,000
Groundwater Sources 2011	Oxley Basin MDB	Oxley Basin MDB (Other)		10	\$651	\$6,510
	Groundwater Source	Management Zone		2650	\$651	\$1,725,150
				400	\$650	\$260,000
	Western Murray Porous Rock Groundwater Source	n/a	30,311	0	\$0	\$0
Water Sharing Plan for the North Western Unregulated and	Adelaide Fold Belt North Western Groundwater Source	n/a	4,557	50	\$500	\$25,000
Fractured Rock Water Sources 2011	Kanmantoo Fold Belt North Western Groundwater Source	n/a	4,190	0	\$0	\$0
Water Sharing Plan for the Greater MetropolitanRe	Coxs River Fractured Rock Groundwater Source	n/a	921	0	\$0	\$0
gion GroundwaterSo	Goulburn Fractured Rock	n/a	5,861	20	\$1,000	\$20,000
urces 2011	i raciuleu Rock			40	\$750	\$30,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Groundwater Source			20	\$650	\$13,000
				50	\$650	\$32,500
				50	\$650	\$32,500
	Metropolitan Coastal Sands	n/a	3,996	56	\$550	\$30,800
	Sydney Basin Central Groundwater Source			50	\$505	\$25,250
				5	\$500	\$2,500
		n/a	6,198	150	\$551	\$82,650
				30	\$500	\$15,000
				20	\$500	\$10,000
	Sydney Basin Nepean Groundwater Source	Nepean Management Zone 2	100	100	\$651	\$65,100
	Sydney Basin North Groundwater Source	n/a	2,837	0	\$0	\$0
	Sydney Basin South	n/a	9,525	10	\$810	\$8,100
	Groundwater			100	\$700	\$70,000
	Source			200	\$660	\$132,000
				10	\$660	\$6,600
Water Sharing Plan for the NSW Great Artesian Basin	GAB Central Shallow Groundwater Source	n/a	825	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
Shallow Groundwater Sources 2011	GAB Surat Shallow Groundwater Source	n/a	1,162	100	\$750	\$75,000
	GAB Warrego Shallow Groundwater Source	n/a	5,010	0	\$0	\$0
Water Sharing Plan for the North Coast Coastal Sands Groundwater Sources 2016	Bellinger- Nambucca Coastal Sands Groundwater Source	n/a	118	0	\$0	\$0
	Clarence Coastal Sands Groundwater Source	n/a	420	0	\$0	\$0
	Coffs Harbour Coastal Sands Groundwater Source	n/a	311	0	\$0	\$0
	Great Lakes Coastal Sands Groundwater Source	n/a	1,600	0	\$0	\$0
	Hastings Coastal Sands Groundwater Source	n/a	710	0	\$0	\$0
	Hawkesbury to Hunter Coastal Sands Groundwater Source	n/a	1,945	0	\$0	\$0



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Macleay Coastal Sands Groundwater Source	n/a	1,130	0	\$0	\$0
	Manning- Camden Haven Coastal Sands Groundwater Source	n/a	330	0	\$0	\$0
	Richmond	n/a	1,805	200	\$615	\$123,000
	Coastal Sands Groundwater			200	\$600	\$120,000
	Source			100	525	\$52,500
	Tweed- Brunswick Coastal Sands Groundwater Source	n/a	1,850	10	\$510	\$5,100
Water Sharing	Clarence	n/a	29,489	6	\$1,000	\$6,000
Plan for the North Coast	Moreton Basin Groundwater			40	\$550	\$22,000
Fractured and Porous Rock	Source			6	\$550	\$3,300
Groundwater Sources 2016				4	\$550	\$2,200
				80	\$525	\$42,000
				50	\$515	\$25,750
				100	\$503	\$50,250
	Dorrigo Basalt Groundwater Source	n/a	495	15	\$500	\$7,500



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	Liverpool Ranges Basalt Coast Groundwater Source	n/a	330	40	\$511	\$20,440
	Lorne Basin Groundwater Source	n/a	945	0	\$0	\$0
	New England	n/a	4,650	5	\$1,888	\$9,440
	Fold Belt Coast Groundwater			10	\$700	\$7,000
	Source			100	\$610	\$61,000
				250	\$601	\$150,250
				30	\$600	\$18,000
				30	\$600	\$18,000
				2	\$550	\$1,100
				17	\$550	\$9,350
				100	\$510	\$51,000
				100	\$510	\$51,000
				60	\$510	\$30,600
				100	\$502	\$50,200
				20	\$500	\$10,000
				100	\$500	\$50,000
				400	\$500	\$200,000
				10	\$500	\$5,000
				172	\$500	\$86,000



Water Sharing Plan	Groundwater source	Management Zone	Units of access licence share component made available 8/10/2019	Quantity of share units issued	Price paid per unit share \$	Total price paid \$
	North Coast Volcanics Groundwater Source	n/a	1,020	70	\$550	\$38,500
	Oxley Basin Coast Groundwater Source	n/a	960	0	\$0	\$0
Water Sharing Plan for the	Lachlan Fold Belt Coast Groundwater Source	n/a	1,980	30	\$505	\$15,150
South Coast Groundwater				1722	\$500	\$861,000
Sources 2016				50	\$500	\$25,000
				50	\$500	\$25,000
	South East Coastal Sands Groundwater Source	n/a	560	0	\$0	\$0
	Sydney Basin- South Coast Groundwater Source	n/a	2,100	10	\$551	\$5,510

[©] State of New South Wales through Department of Planning, Industry and Environment 2021. The information contained in this publication is based on knowledge and understanding at the time of writing (September 2021). However, because of advances in knowledge, users should ensure that the information upon which they rely is up to date and to check the currency of the information with the appropriate departmental officer or the user's independent adviser.